BK S:t Erik

Fredagsgodis 2019-02-15

Partavling, 47 bord, 94 par.

Antal brickor: 21. Medel: 966.0.

Plac Par

1 43 1332 68.94
2 132 1247 64.54
3 104 1238 64.08
4 61 1198 62.01
5 94 1192 61.70
6
7
8
9

Poang %

108 1189 61.54

130 1182 61.18

48 1171 60.61

21 1161 60.09
10 2 1156 59.83
10 84 1156 59.83
12 74 1148 59.42
13 49 1140 59.01
14 72 1139 58.95
15 101 1133 58.64
16 65 1127 58.33
17 91 1121 58.02
18 27 1119 57.92
19 6 1114 57.66
20 114 1088 56.31
21 69 1083 56.06
22 82 1079 55.85
23 124 1077 55.75
24 44 1070 55.38
25 10 1057 54.71
26 32 1055 54.61
27 85 1054 54.55
28 127 1052 54.45
29 12 1049 54.30
30 86 1043 53.99
31 102 1040 53.83
32 4 1027 53.16
33 24 1025 53.05
34 8 1020 52.80
35 46 1017 52.64
36 14 1014 52.48
37 103 1007 52.12
37 122 1007 52.12
39 a7 1003 51.92
40 73 999 51.71
41 110 996 51.55
42 106 984 50.93
43 30 973 50.36
44 121 966 50.00
45 90 962 49.79
46 64 959 49.64
47 88 955 49.43
48 113 952 49.28
49 3 949 49.12
50 1 948 49.07
51 25 944 48.86
52 66 938 48.55
53 87 935 48.40
54 53 934 48.34
55 31 930 48.14
56 11 924 47.83
57 54 920 47.62
58 81 915 47.36
59 125 914 47.31
60 63 911 47.15
61 112 908 47.00
62 50 904 46.79
63 123 901 46.64
64 93 889 46.01
65 22 888 45.96
66 29 887 4591
67 52 881 45.60
68 109 878 45.45
69 28 877 45.39
70 26 868 44.93
71 41 867 44.88
71 68 867 44.88
73 23 865 44.77
74 129 857 44.36
75 5 852 44.10
76 126 840 43.48
77 9 838 43.37
77 13 838 43.37
14 83 838 43.37
80 105 836 43.27
81 70 827 42.81
82 67 826 42.75
83 131 811 41.98
84 51 793 41.05
85 92 790 40.89

Namn

Michael Treschow - Lena Treschow Torell
Elisabeth Billfalk - Inger Hammar

Mats Danielson - Rolf Haggstrom
Elisabeth Gatermann - Karin Axnas Stigell
Staffan Tjus - Jan Olof Dahlén

Per-Owe Jalde - Synnodve Billstam-Eriksson
Magnus Hultman - Eva Hultman Ribbing
Marianne Schwarz - Ruth Kirschon
Anita Hammarstedt - Pierre Grahn

Eva Belfrage - Sten Rundin

Anita Béackstrom - Bitte Eskilson

Linda Aspelin - Barbara Lundquist

Lena Roedenbeck - Marie-Louise Hoeg
Lars-Ake Karlsson - Stellan Andersson
Berit Helge - Brita Matérn

Per Hallman - Tina Hallman

Mac Gotthard - Jon Heyman

Bo Friberg - Goran Gréaslund

Henrik Almhagen - Per-Olof Waessman
Lars Nitell - Gosta Cannerheim

Cecilia Ramel - Berit Hellstrom

Gunnar Kirschon - Rikard Frenkel

Bengt Rehnstrém - Pirjo Rehnstrom
Sylvia Herrlin - Bertil Torbrand

Wiktor Raldow - Marianne Feledy-Werthen
Eva Mare - Leif Anderberg

Gerhard Gammer - Magnus Hempel
Dick Everskog - Per-Olof Wejnarth
Benkt Lundgren - Arthur Nathansson
Christer Larsson - Torbjorn Holking
Birgitta Alenius - Lena Melin

Anders Schelin - Katarina Fahlander
Krister Alpmar - Maj-Britt Alpmar

Karin Lagerman - Birgitta Munck

Lena Treffner - Catherine Steyskal
Margareta Tunheden - Maria Sellén
Anne Lundén - Eva Manhage
Anne-Outram Mott - Malin Philipson
Eva HoOk - Marika Roger

Gunilla Gabrielson - Ingemar Gabrielson
Staffan Bjorkman - Ingrid Laurell

Gunilla Olofsson - Anita Koch

Gunnel Lindegren - Kerstin Falk
Mary-Ann Engstrom - Jan Engstrom
Jorgen Billstrom - Claes Molund

Andrea Hégglund - Susan Sommarlund
Bengt Bjorkstén - Britta Waller

Lottie Tegner - Barbro Malmgren

Marika von Schultz - Madeleine Egnell
Kerstin Danielsson - Gunilla Burenius
Pia Kérde - Rose-Marie Hofdam
Madeleine Kleberg - Louise Dinkelspiel
Birgitta Wallin - Leif Wallin

Roger Jerlback - Kerstin Dinell

Leif Jacobsson - Marianne Jacobsson
Owe Kordel - Margret Edstrom

Anna Karin Osterberg - Monica Henriksson
Ann-Charlotte Cedervall - Héléne Bostrom
Kristina Miholich - Nils Miholich

Patrik Norinder - Bertil Carstam

Christer Hellgvist - Marianne Hellgvist
Lotta Wiberg - Marie Svendenius

Goran Parner - Lennart Flyrén

Gunnar Albertsson - Gunvor Albertsson
Clas Mannheimer - Bodil Mannheimer
Maria De Geer - Thesy Burenstam Linder
Lars Kronvall - Ingrid Lindberg

Johan Wabhlgren - Rose-Marie Wahlgren
Gunnel Barkeby - Ingrid Johansson

Britt Nylén - Marianne Westh

Inez Kapborg - Lisbeth Hellstrand

Olle Magnuson - Eva Hoffsten

Agneta Gisle - Peter Gisle

Hakan Kjellberg - Christer Wretborn
Anne Nordstrom - Beate Bosson

Per Christoffersson - Clas Silfverhielm
Agneta Tjus-Hampf - Madeleine Gabrielson
Goran Sterin - Kerstin Sterin

Gunilla Halldin - Catarina Lindqvist
Orjan Elfstrém - Kristina Regnell

Annita Hammargren Bolin - Eva Jérnow
Leif Hojvall - Britta Hojvall

Tomas Bergquvist - Christer Andersson
Ulla Norén - Staffan Norén

Eva Holm - Anita Helgstedt

MID

60876
85894
79924
35840
46326
35585
40832
46172
47498
90810
41592
26588
59016
64612
43441
61327
60879
65512
62387
54959
93561
60171
32742
53227
59046
55113
59206
87993
65502
58096
40883
64749
92352
57761
56098
85382
57743
20649
55851
43512
59047
49525
65356
90360
62074
+3793
56727
64608
54807
64093
90388
42666
57924
62043
85406
47226
52763
63918
65937
38073
63830
17646
42025
63254
53896
49511
38733
52842
49513
36675
54309
42493
39145
59371
90145
55483
25625
92598
50214
65360
60560
61935
59854
14789
93633
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59832
82507
46763
29757
62894
35908
40831
60168
44940
80696
57606
26925
60880
63913
26290
61326
65535
65511
62386
58772
41925
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36160
57114
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40814
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37544
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92351
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41709
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22434
64609
55567
44153
90387
52768
57917
61176
52460
45627
53065
64679
67041
33467
63829
47899
56978
63253
53897
27922
52973
52488
62051
36333
57162
52856
39076
63360
62034
47732
65794
92591
47678
65358
62347
62061
59853
55439
93632
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86 62 778 40.27 Eva-Lotta Axséter - Kerstin Hjalmarsson 61395 60671 BK S:tErik
87 45 774 40.06  Staffan Wetterling - Hans Lindgren 64595 59396 BK S:t Erik
88 7 738 38.20 Louise Edlind Friberg - Madelaine Egnell 55852 61608 BK S:t Erik
88 128 738 38.20 Lars Frojd - Birgitta Magnusson Warmark 32915 63393 BK S:tErik
90 71 724 37.47 Eva Kulling - Karl Gustav Kulling 54960 56603 BK S:tErik
91 42 718 37.16 Cecilia Isoz - Gudrun Noreby 82401 49646 BK S:t Erik
92 111 639 33.07 Birthe Ehrling - Ylva Bohman 49528 64189 BK S:tErik
93 107 636 32.92  Johny Hultin - Annika Hultin 47225 47224 BK S:t Erik
94 89 595 30.80 Marianne Sjélin - Eva Malmquist 65294 45399 BK S:t Erik - Lidingd BK
1 & K7 2 4763 3 « EK102
Nord vD1084 Ost v 1075 Syd v10
Ingen + 109 NS ¢ EKn10753 ov + 1054
#DKn1076 &D #EK1096
4953 4 E106 s E2 # 985 « D98 463
v763  vEK95 v D92 v KKn86 vKn853 K742
+ KD43 ¢ E875 + K4 +D2 ¢ K9832 ¢ DKn6
2854  #92 #EK5432 #Kn1098 *2 #D873
« DKn842 « KDKn104 & Kn754
vKn2 vE43 vED96
¢ Kn62 4986 ¢ E7
#EK3 &76 #Kn54
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
14 10 24 S+1 ¢4 140 91.0 1.0| 47 45 34 S+1 &A 170 92.0 0.0| 47 45 44 S+2 &2 480 90.0 2.0
94 90 34 S= +3 140 91.0 10| 64 63 4v0-3 &K 150 90.0 2.0| 68 61 44 S+2 &2 480 90.0 2.0
69 71 INN+1 A 120 850 7.0 8 1 24 S= «A 110 87.0 50| 74 70 44 N+2 ¢Q 480 90.0 2.0
74 70 INN+1 A 120 85.0 7.0|124 128 24 S= «A 110 87.0 50| 49 51 3NS+2 2 460 86.0 6.0
86 82 INN+1 vK 120 850 7.0| 26 32 3NV-2 a7 100 84.0 8.0 9 11 44 N+1 +6 450 76.0 16.0
112 113 INN+1 vA 120 85.0 7.0|114 110 2¢ N= *J 90 82.0 10.0| 44 43 44 S+1 &2 450 76.0 16.0
4 3 24 S= +K 110 740 18.0| 48 41 54V-1 ¢Q 50 79.0 13.0| 64 63 44 N+1 46 450 76.0 16.0
21 27 24 S= ¢+K 110 740 18.0| 66 62 5#V-1 ¢A 50 79.0 13.0| 69 71 44 N+1 ¢Q 450 76.0 16.0
46 42 24 S= +3 110 74.0 18.0 7 5 3¢ N-1 &J -100 73.0 19.0| 86 82 44 S+1 &2 450 76.0 16.0
66 62 24 S= +K 110 740 18.0| 23 31 3¢ N-1 #J -100 73.0 19.0| 89 91 44 N+1 ¢Q 450 76.0 16.0
84 83 24 S= ¢K 110 740 18.0| 46 42 34 S-1 #A -100 73.0 19.0| 94 90 44 S+1 &2 450 76.0 16.0
109 111 24 S= v6 110 740 18.0| 72 73 3¢ N-1 #J -100 73.0 19.0|104 103 44 N+1 +Q 450 76.0 16.0
121 127 24 S= +4 110 74.0 18.0 6 2 3&V+1l ¢A -130 48.0 44.0|126 132 44 S+1 &2 450 76.0 16.0
49 51 24 N= vA 90 65.0 27.0| 12 13 24V +2 a7 -130 48.0 44.0|121 127 3NS+1 48 430 66.0 26.0
129 122 INN= vA 90 65.0 27.0| 14 10 44 V= *A -130 48.0 44.0| 12 13 44 S= *2 420 54.0 38.0
107 105 14 S= + K 80 62.0 30.0| 21 27 3#V+1l &3 -130 48.0 44.0| 14 10 44 N= 46 420 54.0 38.0
12 13 3¢ O-1 #A 50 59.0 33.0| 24 28 44 V= a7 -130 48.0 44.0| 24 28 44 N= v4 420 54.0 38.0
108 101 INO-1 &2 50 59.0 33.0| 25 30 4#V= a7 -130 48.0 44.0| 46 42 44 S= *2 420 54.0 38.0
6 2 24S-1  ¢3 -50 51.0 41.0| 49 51 34 V+1l &7 -130 48.0 440 72 73 44 S= +8 420 54.0 38.0
29 22 INN-1 vA -50 51.0 41.0| 52 53 44 V= ¢A -130 48.0 44.0| 92 93 44 N= +Q 420 54.0 38.0
52 53 24 S-1 +¢K -50 51.0 41.0| 54 50 3 V+1l &7 -130 48.0 44.0 (106 102 44 S= v5 420 54.0 38.0
67 65 3« N-1 ¢K -50 51.0 41.0| 74 70 34 V+1l &7 -130 48.0 44.0 (109 111 44 S= *2 420 54.0 38.0
104 103 24 S-1 #4 -50 51.0 41.0| 87 85 44 V= ¢A -130 48.0 44.0 (112 113 44 S= *2 420 54.0 38.0
106 102 24 S-1 +¢K -50 51.0 41.0| 89 91 34 V+l &7 -130 48.0 44.0|124 128 44 N= v4 420 54.0 38.0
7 5 INO= #A -90 28.0 64.0|104 103 34 V+1 &7 -130 48.0 44.0|125 130 44 N= +Q 420 54.0 38.0
8 1 INO= 42 -90 28.0 64.0|107 105 34V +1 &7 -130 48.0 44.0 4 3 3NS= 2 400 40.0 52.0
9 11 INO= a2 -90 28.0 64.0|108 101 4% V= a7 -130 48.0 44.0| 67 65 3NN= +Q 400 40.0 52.0
23 31 INO= &2 -90 28.0 64.0|109 111 3 V+1l ¢A -130 48.0 44.0(123 131 3NS= «Q 400 40.0 52.0
24 28 INO= a2 -90 28.0 64.0|121 127 24V +2 &7 -130 48.0 44.0 7 5 3¢ N+3 ¢Q 230 35.0 57.0
26 32 INO= «Q -90 28.0 64.0|123 131 24 V+2 &7 -130 48.0 440 23 31 24 N+4 ¢Q 230 35.0 57.0
44 43 INO= 42 -90 28.0 64.0|125 130 24 V+2 &7 -130 48.0 44.0| 29 22 24S+2 v¥5 130 32.0 60.0
47 45 INO= &2 -90 28.0 64.0|126 132 34V +1 43 -130 48.0 44.0 6 2 3NS-1 ¢2 -50 18.0 74.0
48 41 INO= 42 -90 28.0 64.0|129 122 4& V= 43 -130 48.0 44.0| 21 27 3NS-1 9 -50 18.0 74.0
54 50 INO= 4Q -90 28.0 64.0 4 3 46 V+1 ¢A -150 18.0 74.0| 25 30 5#S-1 &2 -50 18.0 74.0
72 73 INO= a8 -90 28.0 64.0 9 11 INV+2 5 -150 18.0 74.0| 26 32 3NS-1 3 -50 18.0 74.0
87 85 INO= 48 90 28.0 64.0| 29 22 44V+1l &Q -150 18.0 74.0| 48 41 44 N-1 v2 -50 18.0 74.0
88 81 INO= 44 -90 28.0 64.0| 67 65 24V +3 &Q -150 18.0 74.0| 54 50 3NS-1 2 -50 18.0 74.0
92 93 INO= a8 -90 28.0 64.0| 68 61 2#V+3 v¥5 -150 18.0 74.0| 66 62 3NN-1 +¢K -50 18.0 74.0
114 110 INO= &2 90 28.0 64.0| 92 93 3&V+2 +A -150 18.0 74.0| 87 85 3NS-1 8 -50 18.0 74.0
123 131 INO= 42 90 28.0 64.0| 94 90 44 V+1l +A -150 18.0 74.0| 88 81 3NS-1 2 -50 18.0 74.0
124 128 INO=  #A -90 28.0 64.0|106 102 34V +2 ¢A -150 18.0 74.0 (107 105 3NS-1 2 -50 18.0 74.0
89 91 24 S-2 &8 -100 10.0 82.0|112 113 44 V+1 +¢A -150 18.0 74.0(108 101 6NN-1 ¥4 -50 18.0 74.0
64 63 INO+1 #A -120 7.0 85.0| 84 83 4¢ N-2 #J -200 7.0 85.0(114 110 2NS-1 2 -50 18.0 74.0
125 130 INO+1 #Q -120 7.0 85.0| 88 81 4¢ N-2 ¢ -200 7.0 85.0(129 122 3NS-1 8 -50 18.0 74.0
25 30 INO+2 a2 -150 2.0 900 69 71 5&V= ¢ A -400 4.0 88.0 8 1 54N-2 46 -100 2.0 90.0
68 61 INO+2 «Q -150 2.0 90.0| 86 82 3NO+1 4K -430 2.0 90.0| 52 53 3NS-2 2 -100 2.0 90.0
126 132 INO+2 4Q -150 2.0 90.0| 44 43 3NV+2 ¢ -460 0.0 92.0| 84 83 44 S-2 &2 -100 2.0 90.0
4 «D8 5 K9 6 +1074
Vast v Kn9763 Nord v 87652 Ost v Kn97
Alla +9 NS + E98 ov ¢ EDKn3
#EKDKnN2 #EKn9 #862
4« K1097652 #EKn «E875 &Kn 4EKD9 452
vK5 vE842 vEKKn4 v103 v54 v D832
¢ Kn8 + KD10643 ¢ DKn + K7652 + 864 + K972
*64 *3 #875 #D10632 210943 &EDKn
443 « D106432  Kn863
vD10 vD9 v EK106
¢+ E752 41043 + 105
#109875 K4 &K75
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
107 103 4v O-4 +¢5 400 920 0.0| 65 64 INN+2 &2 150 920 0.0| 65 64 3NDO-3 vK 800 92.0 0.0
21 26 54DV-1 &A 200 90.0 20| 73 74 INN+1 2 120 89.0 3.0| 8 83 INO-2 «vA 200 89.0 3.0
53 54 3« N+1 ¢K 130 88.0 4.0|132 131 INN+1 2 120 89.0 3.0| 90 92 INV-2 ¢J 200 89.0 3.0
101 106 34 V-1 &3 100 840 80| 13 14 2vyN= ] 110 80.0 12.0| 49 42 2NS= sA 120 86.0 6.0
108 111 34 V-1 &3 100 840 80| 24 27 24 S= vK 110 80.0 12.0 8 11 2¢ O-1 vA 100 73.0 19.0
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122 128 44 V-1 &A 100 840 80| 25 29 24 S= +Q 110 80.0 12.0| 10 12 INO-1 45 100 73.0 19.0
5 4 44 N-1 aA -100 77.0 150 32 31 24 S= +Q 110 80.0 12.0| 25 29 INO-1 v6 100 73.0 19.0
32 31 44 N-1 ¢K -100 77.0 150| 87 83 24 S= +Q 110 80.0 120| 50 52 2¢ O-1 vA 100 73.0 19.0
87 83 44 N-1 &A -100 77.0 15.0 (105 104 24 S= vA 110 80.0 12.0| 61 66 3NO-1 45 100 73.0 19.0
110 112 5¢ N-1 #A -100 77.0 15.0 (130 123 24 S= vA 110 80.0 12.0| 69 62 INO-1 3 100 73.0 19.0
25 29 3¢ 0= +vQ -110 70.0 22.0| 48 51 INV-2 v2 100 710 21.0| 81 86 2NO-1 45 100 73.0 19.0
69 62 3¢ O= vQ -110 70.0 22.0| 90 92 24 V-2 v8 100 71.0 21.0|105 104 INV-1 48 100 73.0 19.0
125 129 3¢ O= &7 -110 70.0 22.0 8 11 INN= *2 90 65.0 27.0|108 111 INO-1 T 100 73.0 19.0
24 27 3¢ O+1 &8 -130 66.0 26.0( 30 23 INS= »8 90 65.0 27.0|110 112 1la V-1 v7 100 73.0 19.0
67 63 34 V= *A -140 64.0 28.0| 61 66 INN-= 2 90 65.0 27.0|125 129 2N O-1 &7 100 73.0 19.0
61 66 3¢ O+2 &5 -150 61.0 31.0 (113 114 INN= *2 90 65.0 27.0|132 131 INO-1 vA 100 73.0 19.0
68 71 4¢ O+1 &5 -150 61.0 31.0( 47 43 3#V-1 &K 50 540 38.0| 30 23 Pass 57.0 35.0
9 2 34 V+l &A -170 55.0 37.0| 68 71 3v V-1 49 50 54.0 38.0| 45 44 Pass 57.0 35.0
13 14 24 V+2 #A -170 55.0 37.0| 69 62 INV-1 v2 50 54.0 38.0| 67 63 Pass 57.0 35.0
49 42 24 V+2 &A -170 55.0 370 70 72 24 V-1 v2 50 540 38.0| 89 82 Pass 57.0 35.0
85 84 34 V+l &A -170 55.0 37.0|101 106 INV-1 &K 50 54.0 38.0 1 6 INO= 46 -90 37.0 55.0
10 12 34 V+2 #A -200 44.0 48.0|121 126 INV-1 ¢8 50 54.0 38.0 5 4 INO= *T -90 37.0 55.0
22 28 34 V+2 &A -200 440 48.0(124 127 24 0O-1 vQ 50 540 38.0| 21 26 INO= »5 -90 37.0 55.0
45 44 34 V+2 &A -200 440 48.0| 53 54 INV= v2 -90 44.0 48.0| 22 28 INO= vA -90 37.0 55.0
48 51 54 S-2 4T -200 440 48.0| 88 91 240= vQ -90 44.0 48.0| 32 31 INO= vA -90 37.0 55.0
50 52 5# N-2 4A -200 44.0 48.0(110 112 INV= v2 -90 44.0 48.0| 47 43 INO= »5 -90 37.0 55.0
109 102 5# S-2 42 -200 44.0 48.0 5 4 34 S-1 ©vA -100 28.0 64.0| 48 51 INO= vA -90 37.0 55.0
113 114 34 O+2 &3 -200 44.0 48.0 7 3 29 N-1 & -100 28.0 64.0| 53 54 INO= *5 -90 37.0 55.0
121 126 5#DN-2 4A -500 35.0 57.0 9 2 INN-1 ¢2 -100 28.0 64.0| 68 71 INO= »5 -90 37.0 55.0
124 127 5#4DN-2 #4A -500 35.0 57.0| 10 12 24 S-1 ©vA -100 28.0 64.0| 70 72 INO= »5 -90 37.0 55.0
1 6 44 V= *A -620 240 68.0| 21 26 INN-1 6 -100 28.0 64.0| 88 91 INO= vA -90 37.0 55.0
7 3 4e V= +9 -620 24.0 68.0| 22 28 INN-1 ¢2 -100 28.0 64.0|101 106 INO= v6 -90 37.0 55.0
8 11 4e V= *A -620 24.0 68.0| 45 44 INN-1 +6 -100 28.0 64.0|113 114 INO= Ly -90 37.0 55.0
41 46 44 V= *A -620 240 68.0| 50 52 INN-1 2 -100 28.0 64.0122 128 INO= *5 -90 37.0 55.0
47 43 44 V= A -620 24.0 68.0( 85 84 24 S-1 +Q -100 28.0 64.0|124 127 INO= vA -90 37.0 55.0
65 64 44 V= *K -620 24.0 68.0 107 103 34 S-1 48 -100 28.0 64.0|130 123 INO= v6 -90 37.0 55.0
90 92 44 V= *A -620 24.0 68.0 (108 111 2v N-1 &T -100 28.0 64.0| 13 14 2v S-2 +8 -100 20.0 72.0
105 104 44 V= A -620 24.0 68.0(109 102 34 S-1 ¢Q -100 28.0 64.0 9 2 INO+1 T -120 11.0 81.0
130 123 44 V= *A -620 24.0 68.0(122 128 24 S-1 ¢Q -100 28.0 64.0| 24 27 INO+1 &5 -120 11.0 81.0
30 23 44 V+1 &K -650 7.0 85.0 1 6 2NV = v8 -120 13.0 79.0| 41 46 INO+1 ¥6 -120 11.0 81.0
70 72 44 V+1 &A -650 7.0 85.0| 49 42 INV+l 2 -120 13.0 79.0| 73 74 INO+1 46 -120 11.0 81.0
73 74 46 V+1 &A -650 7.0 85.0| 67 63 3#0O0+1 9 -130 10.0 82.0| 85 84 INO+1 &5 -120 11.0 81.0
81 86 44 V+1 49 -650 7.0 85.0| 41 46 INO+2 &2 -150 7.0 850 93 94 INO+1 &5 -120 11.0 81.0
88 91 44 V+1 &A -650 7.0 85.0 (125 129 INV+2 &9 -150 7.0 85.0|107 103 INO+1 ©vA -120 11.0 81.0
89 82 44 V+1l &J -650 7.0 85.0| 81 86 2NV +2 2 -180 4.0 88.0(121 126 INO+1 &5 -120 11.0 81.0
93 94 54 V= *A -650 7.0 85.0| 89 82 2¢v N-2 &2 -200 2.0 90.0|109 102 INO+2 ¥vA -150 2.0 90.0
132 131 44 V+1 &A -650 7.0 85.0| 93 94 3NV+1 49 -430 0.0 92.0 7 3 2NN-4 ¢2 -200 0.0 92.0
7 «E6 8 10987 9 4 DKn
Syd v 62 Vast v KKn75 Nord v Kn1082
Alla 410843 Ingen ¢+ E104 ov *4
&#E8742 #93 #EK10752
4 D9742 «Kn1053 4632 4 EKKn5 4 EK87 4109542
vEKNn5 v973 vD83 vE vE953 KD
¢ED72 ¢65 + KD92 ¢ 8753 ¢ EKD6 ¢ Kn10872
&Kn +K1096 D87  #Kn652 &D *9
4 K8 «D4 463
vKD1084 v 109642 v 764
¢ KKn9 ¢ Kné 4953
D53 &EK104 #Kn8643
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
109 112 44 V-3 v6 300 92.0 0.0| 10 3 INV-4 T 200 89.0 3.0 2 7 3#V-3 ¢4 300 92.0 0.0
61 64 44 V-2 92 200 880 40| 11 13 INV-4 5 200 890 30| 25 28 3NV-2 #A 200 89.0 3.0
106 105 44 V-2 v6 200 880 40| 21 32 440-4 v2 200 89.0 3.0|102 107 3NO-2 43 200 89.0 3.0
110 103 34 V-2 v6 200 88.0 4.0|123 129 34 0-4 ¢ 200 89.0 3.0|114 108 64 O-1 #3 100 86.0 6.0
25 28 3v S= *] 140 840 80| 31 30 3NV-3 v7 150 82.0 10.0|109 112 2NV = A -120 84.0 8.0
2 7 INN+1 &2 120 82.0 10.0| 46 45 3#0-3 T 150 82.0 10.0|106 105 5# N-3 T -150 82.0 10.0
90 83 2v S= *] 110 80.0 12.0|111 113 INV-3 v7 150 82.0 10.0| 21 32 4¢ V+2 #A -170  76.0 16.0
70 63 44 V-1 v6 100 74.0 18.0|125 128 2v S+1 &7 140 78.0 14.0| 41 44 3¢ V+3 #A -170  76.0 16.0
82 87 24V-1 v6 100 740 18.0| 61 64 2v S= + K 110 740 18.0| 49 52 3¢ O+3 #J -170  76.0 16.0
94 88 34V-1 v6 100 740 18.0| 91 93 24 N= «A 110 740 18.0| 74 68 2¢ V+4 #A -170  76.0 16.0
123 129 34 V-1 v6 100 74.0 18.0|101 104 2v N= 2 110 740 18.0| 82 87 4¢ V+2 &A -170 76.0 16.0
125 128 44 V-1 v6 100 740 18.0| 22 27 2NV-2 v5 100 65.0 27.0| 62 67 34 O+2 43 -200 70.0 22.0
6 5 INS= a7 90 68.0 24.0| 42 47 34 O-2 #A 100 65.0 27.0 9 12 34 O+3 &J -230 66.0 26.0
42 47 INS-1 42 -100 66.0 260 49 52 340-2 2 100 65.0 27.0| 31 30 24 V+4 #A -230 66.0 26.0
1 4 1la V41 v6 -110 56.0 36.0 66 65 INV-2 T 100 65.0 27.0| 70 63 34 O+3 %6 -230 66.0 26.0
10 3 24 V= v6 -110 56.0 36.0| 74 68 INV-2 v7 100 65.0 27.0| 10 3 34DN-2 ¢7 -300 61.0 31.0
11 13 24 V= v2 -110 56.0 36.0| 86 85 3#0-2 ¢J 100 65.0 27.0| 90 83 5#4DN-2 vK -300 61.0 31.0
49 52 24 V= v6 -110 56.0 36.0| 89 92 1&#N+1 ¢J 90 58.0 34.0| 14 8 5¢ V= 3 -600 57.0 35.0
51 53 14 V+1 v6 -110 56.0 36.0 1 4 24 O-1 #A 50 47.0 450 69 72 5¢ V= *A -600 57.0 35.0
74 68 24 V= v6 -110 56.0 36.0 9 12 24 O-1 v2 50 47.0 45.0| 54 48 5¢ V+1 #A -620 53.0 39.0
91 93 1a V+1l ¥6 -110 56.0 36.0| 41 44 INV-1 5 50 47.0 450 89 92 5¢ O+1 43 -620 53.0 39.0
114 108 24 V= v6 -110 56.0 36.0| 50 43 INV-1 5 50 47.0 45.0 6 5 44 O+1 &3 -650 41.0 51.0
122 127 24 V= v6 -110 56.0 36.0| 69 72 14 O-1 v2 50 47.0 45.0| 11 13 44 O+1 v6 -650 41.0 51.0
9 12 24 V+1 v6 -140 340 580 70 63 INV-1 v7 50 47.0 450 26 24 44 V+1 46 -650 41.0 51.0
14 8 24 V+1 v6 -140 34.0 58.0 (102 107 INV-1 v7 50 47.0 45.0| 81 84 44 O+1 43 -650 41.0 51.0
21 32 1aV+2 w2 -140 34.0 58.0|106 105 24 O-1 #A 50 47.0 450 91 93 44 O+1 &J -650 41.0 51.0
22 27 1le V+2 &2 -140 34.0 58.0 (122 127 24 O-1 T 50 47.0 450 94 88 44 O+1 &J -650 41.0 51.0
26 24 24 V+1 96 -140 34.0 58.0|126 124 24 O-1 #A 50 47.0 45.0 (110 103 44 V+1 #A -650 41.0 51.0
41 44 34 O= vT -140 34.0 58.0 6 5 3vS-1 46 -50 31.0 61.0|121 132 44 O+1 &J -650 41.0 51.0
50 43 24 V+1 v6 -140 340 580 25 28 2¢vS-1 ¥3 -50 31.0 61.0|122 127 44 O+1 &J -650 41.0 51.0
62 67 34 V= v6 -140 340 58.0| 26 24 3vS-1 +¢K -50 31.0 61.0|125 128 44 O+1 &J -650 41.0 51.0
66 65 24 V+1 v6 -140 340 58.0| 82 87 3v S-1 46 -50 31.0 61.0 1 4 44 O+2 &3 -680 17.0 75.0
69 72 1le V+2 v6 -140 340 58.0| 90 83 INS-1 5 -50 31.0 61.0| 22 27 44 V+2 & -680 17.0 75.0
101 104 14 V+2 ¢4 -140 34.0 58.0( 94 88 INS-1 T -50 31.0 61.0| 42 47 44 V+2 &A -680 17.0 75.0
102 107 34 V= v6 -140 34.0 58.0 2 7 INV= v7 -90 20.0 72.0| 46 45 44 O+2 &6 -680 17.0 75.0
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121 132 24 V+1 v6 -140 34.0 58.0( 51 53 INV= ¢+ 4 -90 20.0 72.0| 50 43 44 O+2 &J -680 17.0 75.0
111 113 34 V+1 @2 -170  20.0 72.0| 54 48 INO= T -90 20.0 72.0| 51 53 44 O+2 43 -680 17.0 75.0
23 29 2NN-2 &3 -200 11.0 81.0(121 132 INV= aT 90 20.0 72.0| 61 64 44 O+2 43 -680 17.0 75.0
31 30 INN-2 &5 -200 11.0 81.0(131 130 INV= v5 -90 20.0 72.0| 66 65 44 O+2 &3 -680 17.0 75.0
46 45 2v S-2 &) -200 11.0 81.0| 23 29 4v S-2 3 -100 12.0 80.0| 71 73 44 O+2 &3 -680 17.0 75.0
54 48 INN-2 &5 -200 11.0 81.0| 62 67 4v S-2 &7 -100 12.0 80.0| 86 85 44 O+2 &4 -680 17.0 75.0
71 73 2NN-2 & -200 11.0 81.0(109 112 4v S-2 a2 -100 12.0 80.0 111 113 44 O+2 43 -680 17.0 75.0
81 84 34V+2 v6 -200 11.0 81.0| 14 8 2¢ V+1 #A -110 6.0 86.0 123 129 44 O+2 &3 -680 17.0 75.0
126 124 2NN-2 & -200 110 810| 71 73 3¢ O= v7 -110 6.0 86.0|126 124 44 O+2 &J -680 17.0 75.0
131 130 3v S-2 #J -200 11.0 81.0|114 108 2¢ O+1 &A -110 6.0 86.0| 131 130 44 V+2 #A -680 17.0 75.0
89 92 2NS-3 42 -300 2.0 90.0(110 103 INV+1 49 -120 2.0 90.0|101 104 64#DN-5 ¢J -1100 2.0 90.0
86 85 INN-4 4] 400 0.0 920| 81 84 3¢ N-4 »T -200 0.0 92.0| 23 29 64 O= &3 -1430 0.0 92.0
10 4 Kn653 11 « EK 12 « KD1076
Ost v Kn6 Syd v Kn43 Vast v7
Alla + D105 Ingen ¢ Kn106542 NS ¢+ EKn98
#EK53 »62 £K86
+D9 442 4 D9743 4852 a2 4853
vEKD1083 v9742 v 972 vD1085 vED1093 vKB865
¢ EK 49873 +E8 + KD9 ¢+ KD10753 ¢ 2
«D76 #Kn92 »E87 #K53 «10 #E9532
« EK1087 4« Kn106 « EKn94
v5 v EK6 v Kn42
¢ Kn642 ¢73 ¢ 64
21084 &#DKn1094 &DKn74
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
63 61 34V-3 &A 300 920 0.0|122 126 INN+2 &2 150 92.0 0.0|127 125 44DN= +¢2 790 92.0 0.0
88 89 4v0-2 +A 200 89.0 3.0| 82 85 2¢ N+2 3 130 90.0 2.0| 10 13 44 N+1 2 650 89.0 3.0
127 125 2NV-2 &A 200 89.0 3.0| 21 31 2NN= 8 120 88.0 4.0|122 126 44 N+1 2 650 89.0 3.0
23 28 34S+1 ¢A 170 86.0 6.0| 47 46 2¢ N+1 &5 110 86.0 6.0 2 5 44 N= vK 620 75.0 17.0
12 14 34 N= v7 140 810 11.0| 24 32 3v0O-2 7 100 82.0 10.0 3 1 44 N= vK 620 75.0 17.0
21 31 34 S= vA 140 810 11.0| 30 29 34 V-2 46 100 82.0 10.0 7 6 44 N= *2 620 75.0 17.0
103 101 34 S= ¢A 140 810 11.0| 72 74 INO-2 #Q 100 82.0 10.0| 27 25 44 N= 2 620 75.0 17.0
108 109 34 S= ¢A 140 81.0 11.0| 43 41 2¢ N= v5 90 73.0 19.0| 50 53 44 N= 2 620 75.0 17.0
2 5 4v 0-1 +A 100 63.0 29.0| 48 49 24 S= v9 90 73.0 19.0| 72 74 44 N= *2 620 75.0 17.0
11 4 4v0O0-1 «A 100 63.0 29.0| 50 53 2¢ N= a2 90 73.0 19.0| 83 81 44 N= 2 620 75.0 17.0
27 25 4v V-1 #A 100 63.0 29.0| 51 44 2¢ N= 48 90 73.0 19.0| 88 89 44 N= 2 620 75.0 17.0
30 29 4v O-1 &K 100 63.0 29.0| 88 89 2¢ N= 3 90 73.0 19.0| 91 84 44 N= *2 620 75.0 17.0
43 41 4v V-1 3 100 63.0 29.0|127 125 2¢ N= v6 90 73.0 19.0|102 105 44 N= 2 620 75.0 17.0
52 54 4v O-1 «A 100 63.0 290| 11 4 29 0-1 7 50 59.0 33.0| 107 106 44 N= 2 620 75.0 17.0
70 73 4v V-1 45 100 63.0 29.0| 12 14 24 V-1 46 50 59.0 33.0|112 114 44 N= *2 620 75.0 17.0
82 85 4vV-1 +A 100 63.0 29.0| 52 54 INO-1 4 50 59.0 33.0| 43 41 24 N+3 +¢2 200 59.0 33.0
83 81 4v0-1 +A 100 63.0 29.0| 62 65 24 V-1 46 50 59.0 33.0| 62 65 34 N+2 2 200 59.0 33.0
92 94 4v O0-1 +A 100 63.0 29.0| 71 64 44 V-1 46 50 59.0 33.0| 63 61 24 N+3 2 200 59.0 33.0
121 131 4v V-1 & 100 63.0 29.0|102 105 24 V-1 %6 50 59.0 33.0| 87 86 34 N+2 +¢2 200 59.0 33.0
123 128 4v O-1 4A 100 63.0 29.0 112 114 24 V-1 &2 50 59.0 33.0| 67 66 34 N+1 2 170 52.0 40.0
124 132 4v V-1 A 100 63.0 29.0| 130 129 24 V-1 %6 50 59.0 33.0|110 113 34 N+1 2 170 52.0 40.0
130 129 4v O-1 #A 100 63.0 29.0 2 5 Pass 32.0 60.0|123 128 24 N+2 2 170 52.0 40.0
24 32 34 S-1 vA -100 48.0 44.0 7 6 Pass 32.0 60.0| 12 14 5vV-3 &K 150 43.0 49.0
3 1 2v0+1 &A -140 26.0 66.0 8 9 Pass 320 60.0| 22 26 54 V-3 &K 150 43.0 49.0
7 6 2v V+1 &3 -140 26.0 66.0| 22 26 Pass 320 60.0| 24 32 5vV-3 &K 150 43.0 49.0
8 9 1v V+2 @A -140 26.0 66.0| 23 28 Pass 32.0 60.0|108 109 5v O-3 9 150 43.0 49.0
22 26 2y V+1 &A -140 26.0 66.0| 27 25 Pass 32.0 60.0|124 132 4y V-3 &K 150 43.0 49.0
47 46 1v V+2 #A -140 26.0 66.0| 42 45 Pass 32.0 60.0|130 129 5v V-3 &K 150 43.0 49.0
48 49 2v O+1 &A -140 26.0 66.0| 67 66 Pass 320 60.0| 71 64 24 N+1 2 140 36.0 56.0
50 53 3v V= *A -140 26.0 66.0| 68 69 Pass 320 60.0| 30 29 4v V-2 v7 100 30.0 62.0
51 44 3v V= *A -140 26.0 66.0 70 73 Pass 32.0 60.0| 42 45 5¢ V-2 &K 100 30.0 62.0
62 65 3v V= 45 -140 26.0 66.0| 87 86 Pass 320 60.0| 48 49 5vV-2 ¢A 100 30.0 62.0
67 66 3v V= s A -140 26.0 66.0 90 93 Pass 320 60.0| 51 44 5vV-2 &K 100 30.0 62.0
68 69 1v V+2 43 -140 26.0 66.0 92 94 Pass 320 60.0| 52 54 4y V-2 &K 100 30.0 62.0
71 64 1y V+2 43 -140 26.0 66.0 (103 101 Pass 320 60.0| 11 4 4v V-1 &K 50 20.0 72.0
72 74 29 V+1 &A -140 26.0 66.0 [ 107 106 Pass 320 60.0| 23 28 5v V-1 &K 50 20.0 72.0
87 86 2v V+1 #A -140 26.0 66.0 108 109 Pass 320 60.0| 68 69 5v V-1 &K 50 20.0 72.0
90 93 3v O= 4A -140 26.0 66.0 (110 113 Pass 320 60.0| 82 85 5v0-1 £Q 50 20.0 72.0
91 84 3vO= &A -140 26.0 66.0 (121 131 Pass 320 60.0|121 131 3¢ V-1 v7 50 20.0 72.0
102 105 3v V= *A -140 26.0 66.0 | 123 128 Pass 32.0 60.0 8 9 44 N-1 ¢2 -100 9.0 83.0
107 106 1lv V+2 &A -140 26.0 660 63 61 3#S-1 3 -50 12.0 80.0| 47 46 44 N-1 2 -100 9.0 83.0
110 113 3v V= *A -140 26.0 66.0 3 1 la V= +*J -80 10.0 82.0| 70 73 44 N-1 ¢K -100 9.0 83.0
112 114 2v O+1 4A -140 26.0 66.0| 83 81 INO= #Q 90 8.0 84.0| 92 94 34 N-1 ¢2 -100 9.0 83.0
122 126 3v V= *A -140 26.0 66.0| 10 13 1a V+1 ¢J -110 4.0 88.0|103 101 44 N-1 2 -100 9.0 83.0
10 13 2NV +1 &5 -150 3.0 89.0(111 104 2¢vy O= #Q -110 4.0 88.0 (111 104 44 N-1 2 -100 9.0 83.0
111 104 2NV +1 &5 -150 3.0 89.0 (124 132 24 V= ¢+ 4 -110 4.0 88.0| 90 93 4v V+1 &K -450 2.0 90.0
42 45 1v V+3 #A -170 0.0 92.0| 91 84 3NS-4 43 -200 0.0 92.0| 21 31 5¢vDV= <A -650 0.0 92.0
13 « Kn964 14 « Kn5 15  Kn109642
Nord v 105 Ost v 985 Syd v Kn3
Alla ¢ KKn107 Ingen ¢ 73 NS + ED6
#D83 #875432 109
D73 & EKS85 a4 102 «KD73 #ES8
vED9 vK872 vK1072 v EDKn64 v972 v 1065
¢ E642 ¢83 ¢ E1042 ¢ KD98 ¢ KKn 410852
#542  #EKn9 #EKDKn #109 #EKKNn8 #D764
102 « EKD98763 45
v Kn643 v3 v EKD84
¢ D95 ¢ Kn65 49743
#K1076 *6 #532
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
69 70 4v O-2 42 200 91.0 1.0|129 128 44 S= A 420 920 00| 61 67 3NO-3 vA 150 90.0 2.0
112 105 2¢ V-2 5 200 91.0 1.0 4 2 54 S-2 &A -100 90.0 2.0|113 108 24 V-3 vJ 150 90.0 2.0
1 7 3NO-1 &7 100 77.0 150| 91 94 54 S-3 vK -150 87.0 5.0|125 126 3NV-3 vJ 150 90.0 2.0

BK S:t Erik, Fredagsgodis 2019-02-15, sida 4 av 6




11 14 3NO-1 6 100 77.0 15.0 (101 107 54 S-3 #A -150 87.0 5.0 3 6 3NV-2 4] 100 83.0 9.0
22 32 3NO-1 7 100 770 150 52 45 64 S-4 #A -200 840 80| 12 5 3NV-2 4 100 83.0 9.0
29 28 3NO-1 ¥4 100 77.0 150| 63 66 54DS-2 #A -300 820 100| 49 50 2NO-2 +vA 100 83.0 9.0
43 46 3NO-1 +3 100 77.0 15.0 1 7 4v O+2 &A -480 62.0 30.0 (129 128 3NV-2 4] 100 83.0 9.0
44 42 4v O-1 «T 100 77.0 15.0 3 6 5v0+1 &A -480 62.0 300 29 28 3#V-1 vJ 50 74.0 18.0
63 66 3NO-1 ¥4 100 770 15.0( 11 14 4y O+2 4A -480 62.0 30.0| 53 48 INO-1 vA 50 74.0 18.0
64 62 3NO-1 v4 100 77.0 150| 12 5 5v O+1 &A -480 62.0 300 71 74 INV-1 4] 50 74.0 18.0
73 68 3NO-1 ¥4 100 770 150 13 8 4v O+2 4A -480 62.0 300 91 94 34V-1 vJ 50 74.0 18.0
91 94 3NO-1 v4 100 77.0 150| 25 26 5v O+1 &A -480 62.0 30.0|104 102 3+ V-1 vJ 50 74.0 18.0
101 107 3NO-1 #7 100 77.0 150| 30 21 5v O+l 4Q -480 62.0 30.0| 43 46 1a V= 4] -80 68.0 24.0
103 106 3NO-1 #7 100 770 150( 31 24 5v O+1 4A -480 62.0 300 4 2 INV= 4] -90 43.0 49.0
129 128 INV+1 ¢7 -120 64.0 28.0| 43 46 5v V+1 4A -480 62.0 30.0 9 10 INV= &) -90 43.0 49.0
4 2 3v0= o7 -140 610 310 44 42 5v0+1 «Q -480 62.0 30.0| 23 27 INV= 4] -90 43.0 49.0
84 82 3vV= T -140 61.0 31.0| 61 67 5v O+1 4A -480 62.0 300 25 26 INV= 4] -90 43.0 49.0
52 45 2NO+1 42 -150 58.0 340| 64 62 5v O+1 4A -480 62.0 30.0| 30 21 INV= &) -90 43.0 49.0
3 6 3NO= 6 -600 320 60.0| 71 74 5v O+1 &A -480 62.0 30.0| 31 24 INV= 4] -90 43.0 49.0
9 10 3NO= &7 -600 32.0 60.0 73 68 5v O+1 4A -480 62.0 30.0( 41 47 INV= 42 -90 43.0 49.0
12 5 3NO= %6 -600 32.0 60.0| 83 86 5v O+1 4A -480 62.0 30.0| 44 42 INV= &) -90 43.0 49.0
13 8 3NO= 6 -600 32.0 60.0 (103 106 5v O+1 4A -480 62.0 30.0( 52 45 INV= 44 -90 43.0 49.0
23 27 3NO= v4 -600 32.0 60.0 (104 102 5v O+1 4A -480 62.0 300 63 66 INV= 4] -90 43.0 49.0
25 26 3NO= v3 -600 32.0 60.0|125 126 5v O+1 4A -480 62.0 30.0| 64 62 INV= &) -90 43.0 49.0
30 21 3NO= &7 -600 32.0 60.0|131 124 5v O+1 &A -480 62.0 300 72 65 INV= 4] -90 43.0 49.0
31 24 3NO= #6 -600 32.0 60.0| 23 27 54DS-3 #A -500 39.0 53.0| 81 87 INV= 4] -90 43.0 49.0
51 54 3NO= &7 -600 32.0 60.0| 72 65 54DS-3 #K -500 39.0 53.0| 84 82 INV= &) -90 43.0 49.0
53 48 3NV= 46 -600 32.0 60.0( 89 90 54DS-3 ¢A -500 39.0 53.0 89 90 INV= 4] -90 43.0 49.0
61 67 3NO= &7 -600 32.0 60.0 (130 121 54D S-3 #A -500 39.0 53.0( 93 88 INV= 44 -90 43.0 49.0
72 65 3NO= %6 -600 32.0 60.0| 41 47 5v O+2 &A -510 31.0 61.0|101 107 INV= &) -90 43.0 49.0
81 87 3NO= v4 -600 32.0 60.0| 81 87 5v O+2 &6 -510 31.0 61.0(103 106 INV= 4] -90 43.0 49.0
83 8 3NO= ¢3 -600 32.0 60.0 84 82 5v O+2 #6 -510 31.0 61.0(109 110 INV= 4] -90 43.0 49.0
89 90 3NO= %6 -600 32.0 60.0 (111 114 5v O+2 4A -510 31.0 610|111 114 INV= a9 -90 43.0 49.0
92 85 3NO= %6 -600 32.0 60.0 9 10 6v O= 4A -980 15.0 77.0(112 105 INV= 49 -90 43.0 49.0
93 88 3NO= &7 -600 32.0 60.0 22 32 6y O= 4A -980 15.0 77.0 (123 127 INV= 4] -90 43.0 49.0
104 102 3NO= %6 -600 32.0 60.0| 29 28 6vy O= 4A -980 15.0 77.0|130 121 INV= &) -90 43.0 49.0
111 114 3NO= &7 -600 32.0 60.0 49 50 6y O= 4A -980 150 77.0(131 124 INV= 42 -90 43.0 49.0
113 108 3NO= &7 -600 32.0 60.0| 51 54 6y O= 4A -980 150 77.0( 11 14 24 N-1 5 -100 15.0 77.0
122 132 3NO= &7 -600 32.0 60.0| 53 48 6y O= 4A -980 150 77.0| 83 86 24 N-1 &4 -100 15.0 77.0
123 127 3NO= &7 -600 32.0 60.0 69 70 6y O= 4A -980 150 77.0| 92 85 24 N-1 #6 -100 15.0 77.0
125 126 3NO= ¢2 -600 32.0 60.0 92 85 6y O= %6 -980 15.0 77.0(122 132 34 N-1 4A -100 15.0 77.0
130 121 3NO= v4 -600 320 60.0 93 88 6vy O= 4A -980 15.0 77.0 1 7 INV+1 & -120 8.0 84.0
131 124 3NO= %6 -600 32.0 60.0 (112 105 6y O= 4A -980 150 77.0| 13 8 INV+1 4J -120 8.0 84.0
49 50 4y O= T -620 6.0 86.0 (122 132 6y O= 4A -980 15.0 77.0| 69 70 INV+1l 4] -120 8.0 84.0
41 47 3NO+1 #6 -630 2.0 90.0|123 127 6y O= 4A -980 150 77.0| 51 54 34 N-2 %6 -200 3.0 89.0
71 74 3NO+1 %6 -630 2.0 90.0|109 110 6vDO= #4A -1210 1.0 91.0| 73 68 24 N-2 +¢2 -200 3.0 89.0
109 110 3NO+1 &7 -630 2.0 90.0 (113 108 6vDO= 4A -1210 1.0 91.0| 22 32 3NV= 4] -400 0.0 92.0
16 ~E4 17 432 18 473
Vast v 86 Nord vEDS8 Ost v EKn8
ov ¢ EKD872 Ingen ¢ KKn109 NS ¢ EKn76
#E53 #EKn65 #K1096
4Kn9853 4 D2 4KDKn109 «64 4D1096 4 KKn8542
v K943 vD1072 v76 v K1095 v1095 D
¢93 ¢ Kn1054 ¢ E76 ¢854 ¢ K9832 ¢ D4
«D9 +1074 *K98 +10742 %5 #EDKn4
4+ K1076 +E875 +E
v EKn5 v Kn432 v K76432
+6 ¢ D32 ¢ 105
#KKn862 +D3 #8732
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 1 3NS+3 43 490 86.0 6.0( 74 69 3NN+1 v9 430 920 00| 10 11 2v S+1 «5 140 92.0 0.0
4 7 3NS+3 43 490 86.0 6.0(104 107 3NN= v9 400 89.0 3.0( 21 29 44 0-1 2 50 86.0 6.0
21 29 3NS+3 49 490 86.0 6.0(128 127 3NN= v9 400 89.0 3.0 44 47 44 0O-1 2 50 86.0 6.0
23 26 3NS+3 45 490 86.0 6.0 85 83 24DV-2 ¢J 300 86.0 6.0 94 89 44 O-1 T 50 86.0 6.0
64 67 3NS+3 43 490 86.0 6.0 42 41 2NN+2 #4 180 82.0 10.0( 114 109 44 O-1 T 50 86.0 6.0
92 88 3NS+3 45 490 86.0 6.0 84 87 2NN+2 9 180 82.0 10.0(121 129 44 O-1 ¥3 50 86.0 6.0
104 107 3NS+3 v4 490 86.0 6.0 94 89 2NN+2 5 180 82.0 10.0 2 1 3640+1 v2 -170  69.0 23.0
5 3 3NS+2 43 460 71.0 21.0 5 3 2NN+1 5 150 76.0 16.0| 4 7 34 O+1 #8 -170  69.0 23.0
14 9 3NS+2 43 460 71.0 21.0| 14 9 2NN+1 ¢9 150 76.0 16.0( 14 9 34 O+1 ¥3 -170  69.0 23.0
24 30 3NS+2 48 460 710 21.0( 21 29 2NN+1 9 150 760 16.0( 31 22 34 O+1 3 -170  69.0 23.0
28 27 3NS+2 v4 460 71.0 21.0(123 126 2v S+1 4K 140 720 200 32 25 34 O+1 v¥6 -170  69.0 23.0
32 25 3NS+2 45 460 710 21.0( 70 71 2¢ N+2 vK 130 70.0 22.0| 54 49 24 O+2 T -170  69.0 23.0
44 47 3NS+2 43 460 710 21.0( 23 26 2NN= v5 120 62.0 30.0( 65 63 34 O+1 v4 -170  69.0 23.0
82 81 3NN+2 7 460 710 21.0( 24 30 2NN= v9 120 62.0 30.0( 73 66 34 O+1 #3 -170  69.0 23.0
90 91 3NS+2 43 460 71.0 21.0| 31 22 2NN= ¢5 120 62.0 30.0| 82 81 340+1 T -170  69.0 23.0
10 11 3NS+1 3 430 520 40.0( 32 25 2NN= ¥5 120 62.0 30.0 (104 107 34 O+1 2 -170  69.0 23.0
45 43 3NS+1 43 430 52.0 40.0( 54 49 2NN= v5 120 62.0 30.0 (113 106 34 V+1 3 -170  69.0 23.0
52 48 3NS+1 43 430 52.0 40.0| 65 63 2NN= #2 120 62.0 30.0(132 125 24 O+2 &8 -170  69.0 23.0
72 68 3NS+1 ¥4 430 52.0 40.0 (110 111 2NN= ¥5 120 62.0 30.0( 85 83 34 O0+2 T -200 56.0 36.0
84 87 3NS+1 48 430 52.0 40.0( 50 51 2¢ N+1 44 110 520 40.0( 13 6 44 0= v7 -420 32.0 60.0
85 83 3NS+1 43 430 52.0 40.0| 72 68 3¢ N= 4 110 52.0 40.0| 23 26 44 O= v4 -420 32.0 60.0
94 89 3NS+1 ¥3 430 52.0 40.0(105 103 2v S= 4K 110 520 40.0( 24 30 44 0= v6 -420 32.0 60.0
114 109 3NN+1 v7 430 52.0 40.0( 53 46 24 V-2 8 100 47.0 45.0| 42 41 44 O= +4 -420 32.0 60.0
121 129 3NS+1 43 430 52.0 40.0|132 125 24DV -1 ¢J 100 47.0 450| 50 51 44 O= v6 -420 32.0 60.0
123 126 3NN+1 ¥3 430 52.0 40.0 (113 106 14 V-1 vA 50 440 48.0| 53 46 44 O= v3 -420 32.0 60.0
132 125 3NS+1 ¥3 430 52.0 40.0 2 1 2NN-1 v9 -50 36.0 56.0| 62 61 44 O= T -420 32.0 60.0
124 130 5¢ N+1 v7 420 40.0 52.0| 10 11 2NN-1 &4 -50 36.0 56.0| 64 67 44 O= v3 -420 32.0 60.0
12 8 3NS= v4 400 300 62.0( 12 8 4v S-1 49 -50 36.0 56.0( 70 71 44 O= v¥6 -420 32.0 60.0
31 22 3NS= v4 400 300 62.0( 52 48 3v S-1 4K -50 36.0 56.0( 72 68 44 O= v2 -420 32.0 60.0
42 41 3NS= 42 400 30.0 620 64 67 3NN-1 ¥9 -50 36.0 56.0| 74 69 44 O= vK -420 32.0 60.0
53 46 3NS= v3 400 300 62.0( 90 91 3¢ N-1 46 -50 36.0 56.0( 84 87 44 O= ¢5 -420 32.0 60.0
65 63 5¢ N= 4Q 400 30.0 62.0(102 101 2NN-1 9 -50 36.0 56.0( 90 91 44 O= v4 -420 32.0 60.0
74 69 3NS= 48 400 300 620 4 7 3NN-2 #T -100 19.0 730| 92 88 44 O= v2 -420 32.0 60.0

BK S:t Erik, Fredagsgodis 2019-02-15, sida 5 av 6




93 86 3NS= v4 400 30.0 62.0| 44 47 3NS-2 a9 -100 19.0 73.0| 93 86 44 O= ¥3 -420 32.0 60.0
102 101 3NS= v4 400 30.0 62.0| 62 61 3NN-2 #4 -100 19.0 73.0|102 101 44 O= ¥6 -420 32.0 60.0
110 111 3NS= v4 400 30.0 62.0| 82 81 3NS-2 «K -100 19.0 73.0|105 103 44 O= v2 -420 32.0 60.0
70 71 44 S+1 v4 150 19.0 73.0| 92 88 3NN-2 5 -100 19.0 73.0|110 111 44 O= 4A -420 32.0 60.0
131 122 4¢ N+1 &T 150 19.0 73.0| 93 86 3NN-2 9 -100 19.0 73.0|112 108 44 O=  ¢5 -420 32.0 60.0
73 66 3¢ N+1 v7 130 15.0 77.0| 114 109 3NN-2 44 -100 19.0 73.0|123 126 44 O= ¥3 -420 32.0 60.0
112 108 2¢ N+2 @7 130 15.0 77.0|121 129 3NN-2 42 -100 19.0 73.0(124 130 44 O= ¥3 -420 32.0 60.0
50 51 5#S-1 ¢3 -50 7.0 85.0|124 130 3NN-2 46 -100 19.0 73.0|128 127 44 O= ¢33 -420 32.0 60.0
54 49 54S-1 v3 -50 7.0 85.0|131 122 3NN-2 46 -100 19.0 73.0|131 122 44 O= ¥v6 -420 32.0 60.0
62 61 3NN-1 »7 -50 7.0 850 13 6 3NS-3 &K -150 4.0 88.0 5 3 44 0+1 T -450 4.0 88.0
105 103 3NN-1 7 -50 7.0 85.0| 28 27 3NN-3 44 -150 4.0 88.0| 12 8 44 O+1 ¥3 -450 4.0 88.0
113 106 3NS-1 v4 -50 7.0 85.0| 45 43 3NN-3 46 -150 4.0 88.0| 28 27 44 O+1 T -450 4.0 88.0
128 127 3NS-1 v4 -50 7.0 85.0| 73 66 3NN-3 46 -150 4.0 88.0| 45 43 44 O+1 2 -450 4.0 88.0
13 6 66 N-2 7 -100 0.0 92.0(112 108 3NN-3 46 -150 4.0 88.0| 52 48 44 O+1 T -450 4.0 88.0
19 « EKn6 20 « D965 21 « E1094
Syd vKn104 Vast v 965 Nord v EK1062
oV ¢ Kn32 Alla ¢ 42 NS ¢ 74
#K962 #E1086 »K2
a74 4932 4 EKN872 &K4 4632 4 DKn875
vED9863 v K52 vKn73 v K42 vKn87 ¢3
¢ E +D1074 ¢+ E10 + D9753 ¢ 1053 ¢+ ED62
#EKn43 #1085 #952 +KD4 #E963 #DKn4
« KD1085 103 +K
v7 vED108 v D954
+ K9865 + KKn86 + KKn98
D7 #Kn73 10875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
93 89 5v V- «A 200 92.0 0.0|114 107 44DV -3 v¥5 800 920 00| 51 52 44DO-5 v5 1100 920 0.0
6 4 34S= ¢A 140 85.0 7.0| 27 26 3¢ O-3 T 300 89.0 3.0|132 123 4y N+2 «Q 680 90.0 2.0
22 30 24 S+1 &4 140 85.0 7.0|108 110 2NO-3 vT 300 89.0 3.0| 14 7 4y N+1 +6 650 75.0 17.0
48 50 34 S= v9 140 85.0 7.0 8 10 2NO-2 8 200 81.0 11.0| 28 21 4¢vy N+1 ¢A 650 75.0 17.0
91 92 24 S+1 ¢A 140 850 7.0| 14 7 3NO-2 T 200 81.0 11.0| 43 42 4v N+1 ¢A 650 75.0 17.0
94 87 34 S= vA 140 85.0 7.0| 22 30 2NO-2 T 200 81.0 11.0| 48 50 4vy N+1 6 650 75.0 17.0
124 129 34 S= ¢A 140 850 7.0| 24 29 3NO-2 T 200 81.0 11.0| 65 61 4v N+1 3 650 75.0 17.0
13 9 24 S= *5 110 72.0 20.0| 54 47 3NO-2 T 200 81.0 11.0| 68 70 4vy N+1 #Q 650 75.0 17.0
27 26 24 S= ¢A 110 72.0 20.0|124 129 INO-2 43 200 810 11.0| 74 67 4vy N+1 #Q 650 75.0 17.0
43 42 14 S+1 ¢A 110 72.0 20.0| 48 50 2v S= ¢A 110 74.0 18.0| 83 82 4vy N+1 a5 650 75.0 17.0
74 67 24 S= ¢A 110 72.0 20.0 5 1 INO-1 »T 100 56.0 36.0|103 102 4v N+1 #Q 650 75.0 17.0
83 82 24 N= vK 110 72.0 20.0 6 4 INO-1 T 100 56.0 36.0|105 101 5v N= «Q 650 75.0 17.0
114 107 24 S= ¢A 110 72.0 20.0| 13 9 INO-1 8 100 56.0 36.0|108 110 4v N+1 &Q 650 75.0 17.0
125 131 24 S= v3 110 720 20.0| 25 31 24 V-1 ¢4 100 56.0 36.0|114 107 4v N+1 &Q 650 75.0 17.0
25 31 4vV-1 «+A 100 62.0 30.0| 28 21 INO-1 8 100 56.0 36.0|124 129 4vy N+1 &Q 650 75.0 17.0
68 70 3vV-1 A 100 62.0 30.0| 32 23 INO-1 8 100 56.0 36.0|125 131 4v N+1 2 650 75.0 17.0
106 104 3v V-1 #A 100 62.0 30.0| 43 42 2NO-1 8 100 56.0 36.0 3 2 4v N= v3 620 55.0 37.0
66 64 14 S= ¢A 80 58.0 34.0| 66 64 INO-1 43 100 56.0 36.0| 11 12 4vy N= +6 620 55.0 37.0
108 110 24 S-1 +¢A -50 53.0 39.0| 73 69 INO-1 *T 100 56.0 36.0| 73 69 4v N= ¢+A 620 55.0 37.0
113 109 44 S-1 +¢A -50 53.0 39.0| 8 81 INO-1 *T 100 56.0 36.0| 93 89 4v N= «Q 620 55.0 37.0
122 130 24 S-1 +A -50 53.0 39.0| 88 90 INO-1 8 100 56.0 36.0|113 109 4v N = 4Q 620 55.0 37.0
132 123 34 S-1 #4 -50 53.0 39.0| 93 89 INO-1 *T 100 56.0 36.0|128 121 4v N= «Q 620 55.0 37.0
32 23 44 N-2 ¥2 -100 45.0 47.0( 94 87 INO-1 vA 100 56.0 36.0| 32 23 44 O-5 5 250 48.0 44.0
63 62 44 N-2 v5 -100 45.0 47.0|106 104 24 V-1 #A 100 56.0 36.0| 46 44 3vy N+3 4Q 230 46.0 46.0
65 61 44 S-2 &4 -100 45.0 47.0(127 126 2NO-1 T 100 56.0 36.0 6 4 29y N+3 #Q 200 32.0 60.0
103 102 44 N-2 2 -100 45.0 47.0(128 121 INO-1 T 100 56.0 36.0 8 10 2v N+3 «Q 200 32.0 60.0
28 21 3v V= s A -140 34.0 58.0(132 123 INO-1 8 100 56.0 36.0| 13 9 2¢v N+3 438 200 32.0 60.0
45 41 3v V= s A -140 34.0 58.0| 68 70 la V= v5 -80 37.0 55.0| 53 49 2y N+3 +A 200 32.0 60.0
46 44 3v V= 46 -140 34.0 580 86 84 1la V= v9 -80 37.0 55.0| 54 47 3v N+2 +¢6 200 32.0 60.0
54 47 2v V+1 &A -140 34.0 58.0 3 2 INO= v8 90 27.0 65.0| 63 62 2y N+3 &J 200 32.0 60.0
86 84 3v V= s A -140 340 580 51 52 2¢ O= v8 90 27.0 65.0| 66 64 2y N+3 4Q 200 32.0 60.0
88 90 2v V+l1 &6 -140 340 58.0| 53 49 INO= v8 -90 27.0 65.0| 71 72 24 O-4 vQ 200 32.0 60.0
127 126 1lv V+2 &6 -140 340 58.0| 74 67 INO= &3 -90 27.0 65.0| 88 90 3v N+2 438 200 32.0 60.0
3 2 1y V+3 &6 -170 16.0 76.0| 83 82 INO= vT 90 27.0 65.0| 91 92 2¢y N+3 2 200 32.0 60.0
5 1 2vV+2 46 -170  16.0 76.0| 91 92 2¢ O= 6 -90 27.0 65.0| 94 87 3vN+2 &Q 200 32.0 60.0
11 12 1v V+3 &6 -170 16.0 76.0|105 101 INO= vA -90 27.0 65.0|106 104 44 O-4 5 200 32.0 60.0
14 7 3vV+l &A -170  16.0 76.0 (122 130 INO= 8 -90 27.0 65.0|111 112 44 O-4 ¥5 200 32.0 60.0
51 52 1v V+3 &6 -170  16.0 76.0| 63 62 INN-1 #4 -100 17.0 75.0| 22 30 2¢v N+2 &5 170 14.0 78.0
53 49 2v V+2 46 -170 16.0 76.0| 65 61 2v S-1 +A -100 17.0 750 25 31 2¢ N+2 &Q 170 14.0 78.0
73 69 3vV+l 46 -170  16.0 76.0| 45 41 1la V+1 ¢4 -110 130 79.0| 27 26 3vN+1 «Q 170 14.0 78.0
85 81 1v V+3 &6 -170  16.0 76.0 113 109 14 V+1 5 -110 130 79.0| 8 84 2y N+2 #Q 170 14.0 78.0
105 101 1v V+3 &6 -170 16.0 76.0| 11 12 INO+1 T -120 7.0 85.0|122 130 2v N+2 #Q 170 14.0 78.0
111 112 1v V+3 48 -170 160 76.0| 71 72 2NO= vQ -120 7.0 850 24 29 34 O-3 v4 150 8.0 84.0
128 121 1v V+3 &6 -170 16.0 76.0 (103 102 INO+1 T -120 7.0 85.0 5 1 2v N+1 8 140 6.0 86.0
8 10 4v V= s A -620 2.0 90.0(111 112 INO+1 8 -120 7.0 85.0(127 126 24 O-2 v6 100 4.0 88.0
24 29 4v V= 46 -620 2.0 90.0| 46 44 2vy S-2 +A -200 1.0 91.0| 45 41 49y S-1 +A -100 1.0 91.0
71 72 4v V= LY -620 2.0 90.0|125 131 INN-2 4K 200 1.0 91.0| 8 81 4vyN-1 £Q -100 1.0 91.0
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